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650 - 500
z z 100 = 1.5

3) p;x 3>  700) = .0228

mn  Z f 7 0 0 - 500 = 2.0
1 0 0

mnm75wti  I  ah  z = 2.0 ~tIt&d  .4772  ~ow&ea%~n~anuna-&ks~~  2 = 2 . 0  wd&Gi

9infi-+  oo  = 0.5 &I& ‘$i&~~~llltl~l~~  2 = 2.0 kl  0.500 - 0.4772 = .0228

4) P(550 4 X 4 650)

b&l  x = 550, z = 550 - 500
1 0 0 = 0.5

bi&  >; = 6 5 0 , z = 650 - 500
1 0 0

‘= 1.5

tIhGShsn79e97  ~(0.5  c z  L 1 . 5 )  =  P(Z  d 1 . 5 )  -’ Pfz  < 0 . 5 )

Pr iZ < 1.5) = .4332

Pr(Z < 0 . 5 ) = .1915_

.?417 - Pr (0.5 < Z 4 1.5)
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